Y bl g0l

= «F» 4y ¥ -

X=oll a:f(x")+1(

\
S)=ot1=)
+x']

\
N+x']

X>olyl 4 :f(xY)+f(

(‘asé VIO = P90 M) (gS)")':)

- &y F -Y

£()) = sign(sign(()’ —Y()+1))=o |

o
N J
Vv

o

L= f(F)+F() =140 =)
f(r)=sign(sign((*)" = Y(¥)+) =)
i

N )
g

\

(‘asé VIO = P90 M) (gS)"}‘:)

=« @y -Y

f(x)=[§] = o<x<Y¥ = f(X)=o

Y<x<¥f = f(x)=\

F<x<s = f(x)=Y
—r<x<o = f(x)=-)
—fF<x<-Y = f(x)=-¥

(ﬁ,é LTI J—aﬁ) (‘5)'}9)
—«F» 4y 35 -F

- X \ X X X O X
—<[F]€= D []=0 => 0<=<) = 0<X<H D> o< =<— = [T]=o, VL, ¥
Y N 5 > v Y 3 T

(p9® #33= pgd Jad) (535¢)
ol o Gglwo b 553 3o y03 Hladio 125 855 o0 1,5 X jeome 6YU o,lgem 2ol S Gllao yuB A usS Cdd — «T» &g 35 -0
(p9® #33 = pgd Jad) (535°)
b i3S -p
Xx<-Y = f(x)=—Xx—-Y-Ff=-X—% = —X—F=YX+YV = ¥x=—-9 = x=-Y
= a=-Y,b=-Y = A=(-¥,-Y) = a-b=o
x>-Y = f(X)=x+¥Y-Ff=x-Y = X-V=Yx+Y = x=-0 Jgd JB <
(p9d ooyo = £33 Jad) (5 323¢)

g o yly o a3 1950 T (15l a5 Cawl (g ladio A — «T» 4y 35 -V

)
Ya—\=o0o = a=—
v

(9> 33 = pgs Jad) (533)



f+
Do o pl g f 2l as aols 31 g lado jI jud a8 o F 2l g0 ol STl il yo Tg@b aold =« 435 -A

f
D(¥)=(Dfn])g)_{x|f(x)=°} = {,y, N, v, f-{vi={}

(pgw o= pgd Juad) (533)

— P ay3F -4
\W+Y
(Yf =yg)(\Y) = Yf(\Y) = Yg(\Y) = Y(YV\Y + F) — Y’(n) =YXA-Y¥xY=1).

(pgw o= pgd Juad) (533¢)

—«F» a5 Y.
x=f(-¥)=(-¥)+y=—
f f(x) x=—1 A g
4 = (—+fg)(x)=(—)+f(x)xg(x) > Sl oS Gy i X = ) dlaill )0 &l g Sgui o0 B(X) =0 ¢ X = = il
g g(x

(,a,.w QU0 =090 J.AS) (‘5}.’).:) w ela u:‘ Aol 5}? - )i.l)) U)L\.C



